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The question paper is in the form of test booklet. All candidates will be assessed on identical questions.

2. OMR ¥fte ot fay v feammt =t wamqE® ufgul o el =1 ffd @3 dur OMR e o forem qen wifen /wmat
% T Fael i I152 Ferd (el a1 i) w1 g 1)

Read the instructions on the OMR sheet carefully. Use only ball Point Pen (Black or Blue) for writing /
shading / bubble on OMR sheet and marking your answers. ‘

3. ot yenfial & 3 2 F 7 FEE EEE w0 Aam OMR I9 wie four snwm) when & way W, fokw
[z & 911 OMR ST iz ! HIE 991 T OMR 34t ¥z 1 Tifters =1 2 qen s wiafafd #1 oo oo @)

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.

4. ma@%{gw%mﬁwaﬁxmwﬁﬂﬁma,aﬁagwﬁammﬁ(a),(b),(c)aﬁt(d)éam%aﬁq
A I F Fa9 T 8 Hel gl

Each objective question is provided with a text and/or figures wherever applicable with multiple answer
choices (a}, {(b), (c) and (d). Only ane of them is correct.

TE-04 ise see the last page of this booklet for rest of the nstructions
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1. S o # i afiEds w5 geg o g g

The main function of a commutator in a dc generator is

(a)
(b)
(@)
(d)

et =t wt § a5/ To convert de to ac
uEl shi f2Et ° e/ To convert ac to de
wHT % TEt § see / To convert ac to ac

fedit @l fedt W e / To convert de to de

2. DC afay sﬁ%ﬁ'gvr% |

The power factor of a DC circuit is

{a)
(¢}

& / Unity (b) A/ Zero

ﬂﬁ'ff’f ¥ %0 / Less than unity (d) gﬁ?ﬁ Y ST / Greater than unity

3. Jgd oW 9 3 et § § w9 91 SIHIEs 39gE 27

Which type of fire extinguisher is suited for extinguishing electrical fire?

(a) HIET - vl 9T / Soda — Acid Fire Extinguisher

(b)y  FedT sEemEg 31fHeMEE / Carbon — Dioxide Fire Extinguisher

(c) % =S / Foam Type Fire Extinguisher

(d) 9/ Water
4. fontis <t wife gaar st 7l 2l

Power efficiency of a transformer 1s maximum

(_a) EERET HTﬁ Traffa aritar vt &ia1 & / When it is loaded to its full rated capacity

(b) W& =g UEn Wi gar 2 o 919 i w1 wig ki 1 % wuE 3t 2 / When it is loaded such

that copper losses are equal to 1ron losses

(¢) 9 a8 ATMF €9 W AT g1 2 / When it is partly loaded

(d) & 3ulte § ° w8 fofa = | 2/ When none of the above conditions occur
TE-04 3
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5. Trerar T et ® ari-Soel YEOE
Star / delta starter in 3-phase induction motor

(a) PEREECI I CRE] a‘«'rrzgﬁ T2l & / Reduces starting current and starting torque
(b) TEAT G =Tl B 3 TEA Semel wer d / Reduces starting current but increases

starting torque

I (c) TadA 9 Sedl & SR wadd El?ﬂﬂgﬁ F21dT & / Increases starting current as well as

starting torque

(d) Ygd SR SEEl g SR g Eﬁﬂaﬁ merdl 2 / Increases starting current and reduces
gtarting torque

6. oI Wi Wl 3G % ARETE TR W % fore o S 2 |

Synchronous motor is installed at receiving end of substation to
(a) ‘Q'Iﬁﬁﬂuﬁ " ¥R / Improve the power factor

by - 3IThe divedl § fEat / Stabilize the substation voltage

(¢ 393w oAl ®E % 77 / Perform both of above functions
(@ w7 o Rreh ot @ 2g 98 / Perform none of functions

7. Freren, 4 araTeh A F g Freaforfan § @ 9 a1 ofenfi W Ieps 87
Which of the following transformer connections aré best suited for 3 phases, 4 wire services?
(a) A—A ‘ by A=Y
© Y-A (d) SYUw H ¥ FIS T8/ None of the above

8. it 3 wuET SETe % ged # Frefafed § ® @i o wd w18 37

Of the following statements concerning parallel operation of transformer, the one which 1s
not correct?

(a) gionfiE § w9 dieedl FIHA BT =TRY / Transformers must have equal voltage ratings
(b) gfonfes § wHE 9@ A T =1 / Transformers must have same ratio of

transformation

(o) i = aam H[E{Prf 9T ST FET 98T / Transformers must be operated at the same
frequency

(@) ienfiE # @HE kVA 3T 841 918¢ / Transformers must have equal kVA ratings

TE-04 4 March 2019
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10.

11.

12.

B ST F R F R ST A @ dew et gpff wex b s i
fean © =etan 2

The main reason why the rotor of an induction motor runs in the same direction as the

rotating stator magnetic flux 1s to meet the requirement of

(2) o T / Lenz's law

(b) %2 W / Faradays law

(c) FATET = 9R0 7d e / Fleming's left hand law
(@) FfEm =1 e g% 9 / Fleming's rig};t hand law

ol RvieR e Then Hehe e T da @
A permanent split single phase capacitor motor does not have

{a) 3Tehel 599 / centrifugal switch (b) YEe ATEeiT / starting winding
(c) fored T4 et / squirrel-cage rotor (@ 3= IR T/ high power factor

e ) s deen 6 st A 2

The frequency of the secondary voltage of a transformer will be

(2) STt Sieed G & %/ Less than the frequency of the primary voltage
(b merfH® Eﬁ”R_dT ED| H@% % O / Equal to the primary voltage

(c) i ateedn 6 C‘Fﬂqﬁf 2 s / Qreater than the frequency of the primary voltage
(d) et dieedr 34'!‘{% q sgd el / Very much greater than the frequency of the

primary voltage

forg forgg e i Aot o et AT FUH H B 59 T FEd Bl
An electric motor in which rotor and stator fields rotate simultaneously is called a

motor.

(a) TeHi/DC (b) T/ Induction
{c) W%E! Synchronous {d) |1fas / Universal
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ls T - o e R B 3 it

A lead — Acid cell is rechargeable because
(a)  3EH E@Rlaléé L RAED T &/ s electrolyte is sulphuric acid

(b) at e o 8/ It is wet cell
{c) ITeh] TR TR Iehiid & Gdl 2 / [ts chemical action is reversible

(d) ITF ST SAC TR C IR Tecd & Bt 2 / Its electrolyte has a high specific gravity

11 e ¥ & oo B 2 et 2 21

The field circuit of an alternator is supplied with

(a) EreTaHH 910 / An oscillating current () fey 91 / A direct current

(c)  WedtEdi 9/ An alternating current (d) e 9@/ A pulsating current

15, Wer gex aiR verl diee (V) ﬁ%ﬁaw@mmﬁéa'@mw%

The relation of the torque (T) developed in an induction motor and the supply voltage (V} 18
given by the expression '

(ay T T 2 JV ¥ /T proportional to NV
k. T F{H@ﬂ?ﬁ 2 V& /T proportional to V.
(¢ T wHTITEl 2 V2 & /T proportional to V?

(@ T wEATl 21/ V?* /T proportional to 1/ Ve

16. WwﬁméwﬁmﬁSWWﬁaﬁaﬁwaﬁgwmmawﬁ%

In a three phase induction motor started by DOL starter, protection against short circuit 18 - '

given by the
(a)  SAA¥R f© / Over load relay (b) fateea Fedt / No volt coil
(©) SO ¥ / Back up fuses (d) UekehcTEH {39 / Single phasing preventer

TE-04 6 March 2019
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17.

18.

19.

20.

35 chms 3 15 ohms Yotees o Svft gfigy § 3t 5V el 9991 W @M 2 99 15 ohms §
Hreed] aTd - TeRd=T BT ?

In a series circuit having Resistors of 35 chms and 15 ohms, if a battery of 5V is connected
across the combination, what is the voltage drop across 15 ohms?

(@ 5V ® 35V
(¢ 15V @ 2V

Swaﬁﬁ&r@:(ﬂg)ﬁm@ﬂmemaﬁtm%?ﬁﬁaﬁtﬁ%wﬁm%W
Ty & Freres arefl g & gey

In a node having 3 branches, if the currents entering the node are 2A and 5A, then as per
Kirchhoff's current law, the value of current leaving the node is

(@& 2A b 5A
(© 3A (D TA

fmfafias smefa § sfaw R, W dieeq 0@ #1 9a @)

In the figure below, find the voltage drop acress the resistor Rz”

. Ri1=100Q By =400

B:=600Q

(a) 20V b)) 50V
) 30V (d 100V

T ATIHH Ui et # gfedus qo9 !
In resistor with negative temperature coefficient, the resistance value
(a) ATIRT 9o 8 "eal & / Decreases with decrease in temperature

(by  dUHH W4 ¥ =edT 2/ Decreases with increase in temperature
(¢)  OOAM FEo4 § SeaAdt T8t / Does not change with temperature
(d) 39U § " HIE T8 / None of the above

TE-04 7 March 2019
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01, ‘P § wa wgh Rl AT 3 g R7

“Fall of Potential” is a method used for measurement of

(a) ﬁ{\ﬁﬁfﬁﬂ / Earth Resistance (b)) WA ufey / Line Resistance

(c) T / Inductance ; (d) Witk / Power

90, el TG T Tharh $H W 2 I @

Hall Effect Tong Tester is used to measure

(ay AC wd DC &/ AC and DC Current  (b) DC ezt / DC Voltage

¢y AC gieear / AC Voltage (d) Ik @l / All the above

93. g At | AU T8 weH e S 2
Impurities are added to pure semiconductors to increase the

(a) o= / Resistivity (b)y  =ear / Conductivity

(c) i@/ Capacitance (d) 39U H W HE T8 / None of the above

94,  [g @A W01 Hehall B STF IO 2

Form factor for the pure sine wave signals 18
(a)  0.707 b) 0.637

{c) 0.9 (d 111

TE-04 ' 8 March 2019
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o5, frfafas § e o seaan wroar ot 27
Which of the following has highest conductivity?
(a) €M1/ Gold (b) =Mt/ Silver
(¢y @/ Copper : @) fegfufEm / Aluminum
06, Frerafad § & APY T SO T 2R S 37
Which of the following lamp has least operating life?
(a) ‘?F'EI;{:\'HE #m / Fluorescent lamp (b) Eﬁé’ﬁ 9 @ / Mercury vapour lamp
(¢  HidEm AR &9 / Sodium vapour lamp (d) T.E.EL /LED
27.  TgHA SHE TH 2
Lumen is the unit of
(a) &I %I qUieEd / Light wavelength  (b)  SRT T dlgiel / Luminous intensity
(c) Gil'lfgf%[ / Freqﬁency (@) waifd =1 %@ / Luminous flux
08. ¥= g Wl W & Ffafes 4 9 1 T SFIS % ¥9 T SERT HET 8
High pressure Mercury vapour lamp uses one of the following as main electrode
(a) @@/ Copper (b) FE/ Bronze
(¢) E@E/ Quartz (d) o=/ Tungsten

TE-04 9 March 2019
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29.  ufady =1 yrefE B :

The reciprocal of resistance is

(a)  =rashal / Conductance (b) AmfEaT / Susceptance

(c) ufdaer / Impedance (d) ufEnd / Reactance
30. 60 W3l 25 W o & iT w9 dleedl FAd H 81 25 W o ol Jfeie ——

60 W and 25 W lamps are of the same voltage rating. The resistance of 25 W lamp 1is

(2) 60 W & & #H / Lower than 60 W Lamp

(b) 60 W &% ¥°H / Same as 60 W Lamps

(c) 60 W <™ & =gl / Higher than 60 W lamp

() STEHY i T8 / None of the above
31, frga weie # wefora wie = 30w I 2 o ST 21

In electrical machines, laminated cores are used with a view to reduce

(a) Tedieem =1/ Hysteresis loss (b) ¥at uw &/ Eddy current loss

(c) @& &/ Copper loss () SH® T ¥ B 781/ None of the above
32. 12V, 3 Ah ffdwemeh S @ 10 w2 a% e et S 9 |

"TE-0

The current which can be approximately drawn for 10 hours from a battery of specification

12V, 3 Ahis

(a) 0.03A ) 0.3A
© 0.15A (d 15A

4 10 March 2019
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33. W9 vemEfi T ded & 9 et | .
When the speed of alternator increases, the frequency

(a)  wedt 2/ Increases (b) Fedt 2/ Decreases
(¢) U gt 2 / Remains same (d) W H i3 TEf / None of the above

34, Tr=fates 4 @ =59 o1 FRE v 9 e YgE S 27

Which among the following provides protection against electric shocks?

(a)  T=EfRd wiw afitay e (MCCB) 7/ Moulded Case Circuit Breaker (MCCB)
(b) ¥y emor yiwy fEeER (ELCB) / Earth Leakage circuit breaker (ELCB)

() <=y aRuy faieeh (MCB)/ Miniature Circuit breaker (MCB)

() =g aiey fEss (ACB) / Air Circuit Breaker (ACB) o | ;

35. fefafe 4 9 s = we 19,9 i yafkia s & o e afoy w@ Ser 51 gwar 27

In which of the following motors, external resistance can be added to start the motor?
(a) OYId Yd qodshiierss HIER / A salient pole synchronous motor
(b)  Tffae™ IO Hiet/ A slip ring induction motor

(cy. fegrrer fisrg Yoo Jiet/ A squirre] cage induction motor

{(d) glaslfghd T gvﬁiahll%ch miet / A wound rotor synchronous motor i

36.  SRUT Hiex &I Tl gHem ot 2|

Rotor of induction motor runs always : :

(a) Wﬁ%“ Tfd & / At synchronous speed :
(by  geushiforss Tfd | S9mer TIfd ® / At more than synchronous speed
{c) Wﬂ%ﬁ" nifq & =7 7fd 9 / At less than synchronous speed
() & % faufia ©Gam 9 / In opposite direction to the field

TE-04 11 March 2019
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37, Uehel hell A F Wk fagiwan 2 B ag

One of the characteristics of a single phase motor 1s that it

(a) ==9: wadl Brdl 2/ is self starting -

(b) T vadt 7 & R/ is not self starting’

{c) 30 g = W ATTIF B/ requires only one winding

(d) Tirf ws fem | U;ﬁ'—f T Thd! 2 / can rotate in one direction only

38. éqmciehWﬁTﬂTma?ﬁEEﬁ@%Sﬂwm%mmW%

The direction of rotation of a single phase induction motor can be reversed hy —— . '
(a) Bl @ A1 B i Schd Fleh / reversing the connection of both windings

(b)  WEdTEH @ & 1 GISH Tl IcFH b / reversing the connection of starter winding
(e SATYT HAS T 3E@HH H / reversing supply connections

(d)  Ioel FAATT T H STANT Heh / using a reversing switch

39. 1000 Wl Saqaret TRUHT W We™ 250 Voa.c ¥ S T 2w gt dieed 400 Vo ol
Tediaer 3da BT =)

A transformer having 1000 primary turns is connected to a 250 V a.c supply. For a
secondary voltage of 400 V, the number of secondary turns should be

() 1600 ®) 250 1
(c) 400 (@ 1250 |

40. T Fedl I=E fonfr § wufie ot i T em.f s E1 R B2 g5 |

The primary and secondary induced e.m.f s E1 and 2 in a two winding step up transformer
are always . '

(a) O ToaH e 2/ equal 1n magnitude

by UH E{\&ﬁ o el Uelt 2 2/ anti;phase with each other

(c) Th @} 1?[ el ¥ 2d & / in-phase with each other

(dy oftenfis fodees < w8 ffv=a = <1 2 / determined by the load of the transformer

secondary

* TE-04 | 12 March 2019
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41.

42.

43.

44.

TE-04

3 Bt JT07 Wiet F Ik R A gl b Hwor = 37
What ig the cause for 3 Phase induction motor to run in the reverse direction?

(a)  dicedt werl @8 T8 2 / Supply voltage is not correct

(b) W & Yadd i Tgid Ted 2/ Starting metﬁod of the motor is not correct

(c) R AT TR WS 3T T 7 / One fuse of the supply line blown

(d)  uerh wET F wen A T IcHH B TAT 2 / Phase sequence of the supply line got

reversed

IS1 whte o TR ¥ Heled % o 7 & T1 1 an h wegfe 6w 27
Which color wire is recommended for earth connection as per I1SI code?

{a) Tt/ Red (b ®O/Green
(© ¥/ Blue (d) e/ Black

AHTa: "G 98 e s gy e 2
The circuit breaker which generally cannot be serviced is

(a) oo g9y fagse / Oil Circuit breaker

(b) F@F\‘ﬁ gy fFISTk / Miniature circuit breaker
(c)  a1g 9ige feRremh / Air Circuit breaker

(d) A TR gy REeE / Air Blast circuit breaker

S & Wed & 9 TSIk T BROT

Cells in battery are connected in parallel to

(a) sTafe gieAY 56 / Increase the internal resistance

(b) dleedT &HdT s@H / Increase the voltage capacity

(c) YT &Hd e / Increase the current capacity |

(d) g &Hdl 92H / Decrease the current capacity

13 March 2019
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| 45, o HT 400 V, 50 Hz ST Hiet it o737 7fd 715 RPM 31 wefis # gt ot s freft 2infi 2

A three phase, 400 V, 50 Hz induction motor has rated speed 715 RPM. How many poles are
there in the machine? '

@ 2 ® 4

(c) 6 d) 8

46.  ©ifeq ga TRt 4 wifdd Feat | Re
The purpose of the shaded coils in a shaded pole motor 1s to

(a)  =off ﬂﬂfﬁq &7 Sl I9F FH / Produce rotating magnetic field

() =99 7 T2m / Reduce friction loss
(¢ Toum e uiterds =7 F@1/ Reduce rough commutation

(d) =R yfafska semr / Reduce armature reaction

47, WA (d) W@ 5 G P B 98 T AR § ufafa 2t 24

The THumination at a surface due to a source of light placed at a distance (d) from the
surface varies as

(2 1/d* (b) 1/d ‘

©@ d @ d

48, HYR Ted T HKVHTEﬁWW%WWﬁﬁW%%QﬁWﬁWWW%? ‘

What is the type insulators used for holding the 11 KV HT overhead conductors on straight
running of poles?

(a) R YA/ Stay insulators (b) M 8T TEA / Pin type insulators i
() NET s¢§1ﬁa / Shackle insulators (d) 39U =i / All the above

TE-04 14 March 2019
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49. = e oS v ity 2g 3I9gF Bl
———— 1s suitable for testing insulation breakdown adequately at higher potential.
(a) Teoflea wedidier/ Digital Multimeter (b) e "X/ Wattmeter
{c) BT/ Megger (&) dreeder / Voltmeter
50. wzﬁw@wr@ﬁﬁwﬁ%@aaﬂzﬁﬁaﬁnﬁammﬁﬁmﬁar@mm?
(& R = 100 Ohms)
What is the fesistance value measured by Ohmmeter in the figure below, if the terminals
are placed across AB? (Where R= 100 Ohms)?
R R
B =
R R
(a) 100 Ohms (b) 171.4 Ohms
{c) 50 Ohms (d)  221.3 Ohms
1. WRW Y Eeem A qfit F Sreismaret wrén Y o wwd o B el |
In Pipe Earthing, the length of the pipe to be placed in earth is decided by
(a) Wt it 31gar / Moisture of the Soil
(b)  UET H vy "I 1 TR/ Type of metal used for Pipe
{c) 9 ﬁﬁﬁ%‘l‘—l =l 61/ Type of Earthing wire used
() ITE.H B % & / None of the above
52.  UIRY q WHUA A WG T T0F T I % Tou fopan wrar 2
Charcoal and Salt is used around the pipe earthing to .
(a) 3{\5”31{-1%1 i & / Decrease Earth Resistance
(b) ‘{Eli%ii § §&H / Inerease Earth Resistance
{c) €T & 92 / Reduce the leakage current
(d) T3 K SN T F TR/ Prevent rusting of Pipe
TE-04
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53. Sl SRS I W G W %, Sehu e § sifteen deen W A ¥ 50 FEd B
Maximum voltage that a diode can withstand in the reverse direction without breaking
down is called : _
(a) 'HTjﬁ:[ Ateedt / Saturation voltage (b)  I=AH A Aeedi / Peak Inverse voltage
(c) ST Jieedr / Knee voltage (d) I=a9 diced1 / Peak voltage
54. T W ®H W1 e PN W TEIS o R w1 e w0 sat 2 2
Which characteristic of PN junction diode allows it to function as a rectifier?
(a)  Gfr aif@r / Junetion capacitance
({) s arfan 7 Diffusion capacitance
(c) A - yvg AREfR TT%TEY ! Forward and reverse bias characteristics
(d)  WehHYT GTiEr / Transition capacitance
55.  Ge 3reiEmer! ¥ affa i sfqua = wioe § Bt 2 l
The forbidden energy gap in a Ge semiconductor is in the range of
(a) leVito2eV (b) * 3eV to 4eV
{c) 0.6eV to 0.72eV (d) TeVto8eV
56. TN TH HERT GUR W,mﬁwmmé,mwmg@w%
|
Often a common collector configuration will be the last stage of the amplifier before the load;
the main function of this stage is to
(a)  Sleedl 99 241/ Provide voltage gain
(b) Tl =gchH 31/ Provide phase inversion
() SfqaTen wel el / Provide Impedance matching
(d) 3UUF H | Wi 781 / None of the above
TE-04
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57.

AC 1 3mem DC 1 9= B 2
The main advantage of DC over AC is

(a) W& 991/ Easy generation
(b) ot T=RT / Easy transmission
(c) I SR AT STHM / Step up and step down easier

(d) T T / Easy storage

58. ﬁﬁ!ﬁ%ﬁﬁﬁﬁ?ﬁwﬁﬁqﬁwﬁﬁﬁ@”@éﬁmﬁwac;T_méeiurIWaﬁn‘mGrmT%?

Star connection 1s preferred over Delta connection in transformers due to which of the

following reasons?

(a)  diczal See HH &l 8 / Reduced voltage operation

(b) 9§ | 969 / Less number of turns

{c) ekt % IFE § 5890 / Increase in the size of conductor
(d) SRS T / All the above

59. Tefafaa & # @ v o1 3= e qETE g 27

Which of the following material has highest melting temperature?
()  STgMtEm / Aluminum (b) @/ Copper

()  T9rE1/ Lead (dy & (T) / Tin

60. ﬁm%ﬁaaﬁﬁﬁqﬁmﬁaﬁeawa@wﬁ%?

Which of the following wire gauge will have highest current carrying capacity?

TE-04

(a) 18 5WG (b) 208WG
(c) 24 SWG (d) 26S8SWG

17
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5. gl axgE YER & Wl % AW A% g1 9l I 5 KO A o, IW T W I SN Ted 3§ oy v
HF FIeT 1| TRl W % T &g IR ST TEd S AT S|

All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and
MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. Wy qftaes &I 2 oM SR F R w A9 B = ¢ ar D Fafga fran man 2, 8 OMR 3fie w, foed & e |
TAT TSGR FoA AT A g1 UH T H R, FT-GIedoh1 o1 Teiah T8l S sy |

Question bookiets have been marked with A or B or € or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet wilt not
be evaluated.

7. afg smayas 7, o giEae O 3UeTed WE 1 we W o fore 39 R = weedt 21 s 3 i w6 B smomy

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided. !

8. Iufeuf wffe W gRTeR & o Ugd, wWiamefi =i 3uferfs wfie v yfés s forgmm gvm whansff =1 s wm &
T RedTa S g

Before signing the attendance sheet, the candidate should write the Baoklet Code in the attendance sheet. .i
Candidates should sign against THEIR names only. |

9. wliEm % 3@ ¥ (1) Wi digg Trfad wer gemar o (2) e OMR 39 32 @i Fllers %) oy =1 o feeht o) |
TR & wftamff 5@ 9 & &) - ;

At the end of the test (1) Written test Call Letters(s) with photograph pasted on it (2) Original OMR Answer
Sheet shall be returned to the Invigilator and shall not be carried by the candidate under any circumstances.

10. T5¢t T & Te= & e 0 fedt st afcroar/Rame a9 & amel |, S wurer g8 7 s

In case of any ambiguity/ dispute arises on account of interpretation of Hindi version, English version shall
finally prevail,
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